=

% A1ojo] obd 71L& o] YU

oo

@ 1000000000 @ 100000 <] 10000 HH
® 1000 T2} 100 =j @ 9olHTt 19 & 4

® 9999 WtHTI 1 & 4



& F izt 71 2 3L of

D 528 + 15 @ 354 +28

@ 732 =84 ® 632 +51



EDIE

sho] Lherd uh) 22

P
A 5 AT

= =
5o

_Z.._

o] Hi-dell &

ofel

3.

¥e)

SRES

= T
=5

oldo] izl =

rd

o7

ERE

{|n
o5
<

ol

B

m
Tor
EK
o|J
m
Tor

)

o]g

e

ofglo] tiz-def 7t

7H?

ol
Tor

m
Tor
[a\]

.
Tor

ml
ol



4. 2o 3m 9 FAL 3okg AT HZE A5 om o AL 2

kg A FSHA L.

1 2 1 2
@® ngg @ ngg ® 7gkg @ 7gkg ® 8kg



ojn



65°

65°

115°




7. ujREo] 9us} BolFaUh Ad] FUE Fi o I

140]143] 146149152
340|343 346|349 | 352
643|546 |549 (552
LA [752

952

@® 649 @ 652 ® 746 @ 749 ® 946



[ R gue 22 HtEA A Y AL 1AL,

(1) 94em =] |m
(2) 917m =[ Jkm

@ (1) 0.94 (2) 0.917
® (1) 9.4 (2) 9.17

® (1) 94 (2) 0.917

@ (1)0.94 (2) 9.17

@ (1)9.4 (2)91.7



459 AL S

9.

4.826 + 1.398




10. TS T3S B ufE R E Zol XA Q.

[ulll
1=




e oL

a9 e £go thl 7o) 2]

11.



o




13.

A7E Lc e ntERelw A7y Lena
7 cneo 271 ¥ w9171






L Fol7h Mol A Kol gF Kol
5917 FohA 2.

o]
AN

Ut o

©
=

Q@ =75 7z o] Foi Yyt

© 7 A 9] 25 B5F gohd 22 9ych
1 [0) o] &~ o

© Joog o A =AHT Y.

@ ©] 4= 32,5 K} 2H1 324 Kt E4t},

D L
=%

o



